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(Write your Roll No. on .the Ioﬁ imm?dialély on receipt of this-question paper.)
. Attempt All questions. -
~ All questions carry equal marks.

.. (@ What are the steps involved in the managerial
decision making process ?- What rtole does management

accounting play in that‘plfo,ce_ss? ' , | 10
(b) ; 'v Define .and illustmé the foIloWing v.cqgncevpts of cost :  '
('D v _"Produ¢t .and Pe»rivodv.cos't
(i) éontrol;aﬁle gnd Non-controllable .‘cc;st. v 5><2=IO'-
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..(b)

@
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How' are costs assigned to products '_Utjd_ér Actiﬁi’y- :

Bésed_costing ? I __4,10' o

et . I3

Describe ‘advantages and &isadvantages. of variable’

+ -

costing. . . 10

o

‘What do you mean by relevant information analysis ?

3

* Explain’ differential revenue and differqntial cost. 10
Discuss-the functions of budgeting. What are its

Climitations ? - . w00

. * T .
4 - N

Compare .and contrast ‘the isefulness of ‘ideal

5 T

standards, basic standards and currently attainable

Csandards. - g

(28 L SRS AR 1£:

-

~What _advanmges and disgadv.ai'ltfcvlges’ are-shared by ROI :

and Residual Income ? What ‘can be doneito overcome -

S

this problem 2. > jg
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What is transfer pricing 9 Discuss different methods . of

s

transfer pricing along with their merits and demerits. 20

Oor

P

“This makes no sense at all,” said RajnisH, president of ITC

- Company. “We sold the same number of units this yéar as we

did last year, yet our profits havé more than doubled. Who

made the goof—the éomputer or the people 'who_op'érate_ it

The ‘statements to which Mr. Rajnish was refering are shown

below (absorption costing basis) :

. ' Year 1 Year2

Sales (20,000 units each year) - - 700000 700000
Léss Cost of goods sold o 460,000 4,00,000 _' o
Gross margin v o \ l 2,40,000 '_'3,0_0,000

Less Selling and Administrafiye
‘Expenses‘ SR ’ n 2,00,000 2,00,000
Net income. | o . 40,000 '1,00,000

PTO.
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The stateméﬁté above show the —resuits of the- ﬁrs,tl two years
L of ;)pe:rationT In the first yeér, the c;);npz:ihy\v:pr'odi?ced.‘énd sold
26,000 lunits; in the sec'-ond' ye;’r,‘.t};e. éémpény' again sold 20,0_06
 ‘ “_units,"b-‘ut it-: fﬂc?eased 'prdé@étic;ﬁ in Vorder to,' ﬁave a stoéls of
_}lhifs on hahd;' as shown'be.lo:v_v
et Year2

P(oductién. in»v. units - - 20000 .+ 25,000

CSales in wnits < 20000 20000
- Variabl¢ production cost‘p‘ér‘ uhit Rs.8 = ¢ Rs g -

£

Fixed 7Ménufacturlzng Overheéd

' Costs (tol) U ) i.':Rs. 3,00,000 Rs 3,6',0,.090
_ ITC :Cb.mpan‘y prqduces_ ‘a‘singl:e ‘;:)r,ociuét,ﬁx.fed manufa’c‘t»u'r:ing;_ :j'
dverh_e:zld_cosis are abpliied ;o ihé _-’probdlic't.(')n At‘he{bas'is:of. each 'l
.vy¢ar’s productiop; Thus, 'a new ﬁxe&.'manufécturing' over:h'ead: -
.r:ater is :éompuic%i f.achi&ear. Véfiii:bié éélling and admmlstratwe

“expenses are Re. 1 per unit sold." .

. ‘.l‘;
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Required : .‘

()  Prepare an income statement for each year, using variable -

costing,.

(i)  Reconcile the variable costing and absorption costing

net income figures for each year.. ‘ -2

A cycle tyre manufacturing company has been approach_e_:d by R
a large shopkeeper that offers tb buy _1(\),000'tyre‘svét Rs. 3,-200.
Delivery must be,made within 30 days. The production_,éapacity
of the company is 64,000 unigs per month and thi_are is
iﬁveﬁtory of 2,000 tyres._Expected'saie_s at' »regular»prices for
the coming month are 60,000 tyres. 1t is .eétiméted by the
sales managér‘that a_t;out 50% of sales lost during the hdnth
would be made up in later rhonths. Price and cost data per unit
aré as follows : ‘ | |

Selling Price R o Rs. 4,800
Variable Costs : -

.

(2:400)

Production -
Selling g ' | T 600)
- Profit Contribution | : . 1,800

- PTO.



' _Thé .._ifa(iable selling costs on the spéciél orde; would be Rs.

100 per ufit. _ - _

,‘: 'Réqﬁired :

ROl

Vﬁnn or not. -

| .'(ii)_.'v y

Determine whéther the offer should b'e'acce.pté:‘d by t_hé :

-

Determine the :lowest pricev'that’ the company could

“charge on the special order- and not reduce its income.

L

Suppose n(')_v‘y that the shgpk¢¢per._offers_- to buy 8,000

."'ty_res per month at Rs. 3,200 per tyre. The d_ffer would -

v' be. for an entire Year. Expectedjs.z.ilés are 60,000 tyres .

' per month without 'aécep_ting.:the_ special :0rder._

.

"Assuming further that there ,ié no be‘ginm’ng inventory

and that sales lost during the year would .not be miade -

v

up in the following -year, 'determ\ipe' whether thé‘»‘.o‘ffer_

»shoﬁlld bé’gcceptedv and deteﬁnine the lowest priéé that

- .‘vc('imp'any C(')uld .acée’pt; o o . : Z)

-
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Sri- Ram Piston Co. has 'the'fdllowing. data from year |

7’

(')Aperations, W‘h_i‘ch are to-be used for developing year 2

-~ budget estimates :
' Revehues: (i ,00,000 ﬁnits)
. 7. Mar;ufgéthring ' Costsv
‘Materialsv
‘Vania-ble‘ Costs
Fi),<ed Costs. (excluding depreciation)

Depreciation (F ixéd) ]

" Rs. 1,33,000

Rs. 1,80,900

Rs. 72,000

Rs. 89,000

Marketing and Administrative Costs :

Marketing (V_érialgle)

bebféciation of ‘Ma'rketiﬁg Buiiding‘
and Equip‘ment-. |

Adminjstl;a.tive (Fixed) (-exclu'ding -
depreciation) |

Depreéiatio‘n of ‘Ad‘mihistrgtive
Building and Equip‘m:ent‘ |

-To'tai Costs

. Operating Profits

-

Rs. 7.46,000

R 474900

Rs. 95,000 - -

¢

'Rs.22,600

Rs. 90,110

 Rs. 8,400

" Rs.2,16,110

Rs. 6,91,010
Rs. 54,990

P.TO.
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All depréciéﬁon costs are ﬁxed.. Sales volume and prices are
expected to increase by 12 percent-and 6 percent, respectively.

~ On a per unit basis, expectations are that materials costs will
increase by 10 percent and variable manufacturing costs’ will
decrease by 4 percent. Fixed manufacturing costs are expected
_ - to .decrease. by 7 percent

.

- Variable marketing costs will changé ‘with volume. Administra-

tive cash costs are -expected to increase by 8 ‘percent.

Pfepare_,a Sudget profit. p!ap'fq.r'yéar 2.; Maﬁégein'ent wants

to in'cfea;eiopérlating proﬁis by 20 percent \o'vter vy‘eTar I’s
Rs 54:,_9'90 expected p'ro.ﬁts. Basled on ,yogr'buéget Afor )v';iziirAZ, -
".are broﬁté eipect’ed_'to::incre-z%se Qy 20‘ pércent ’7 Why or. »

why.not‘?”' : o 20
Bajaj Company’s _Smél] motor di'\(ision produces a variéty of

small motors that are used in various household and Qﬂ‘”q‘ce'
“appliances. Bajaj’s Kitchen Prdd_uﬂcts division pr()du-ce's -

7
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. appliances such as blenders, juicer and so on.'The most

frequently used motor is model A 28, which can be purchased

‘from a number of outside suppliers for Rs.-2,300 each. The

i manager of the Kitchen Products division has approéchéd"

the manager of the small motor division and off_ered to‘buy.

-

1,50,000 model A 28 small motors. The Small Motor division

\

is producing at_,gapacitf and produces énd éellé 2;00,000'm-od’e1
A ?8 moior_s to outside cu>sto.m.ers_ for Rs. 2,?00' each.
Required :
() Whatis fhé miﬁ{mum .transfer pric.e' for the S’maH Mgtf)r'
'D'ivisi(.)n 2 What is the maxi@uﬁl ftt"ansfe_r 'pricev"for the
, K.itchen.Products division ?'Is it impor_tant’ -tligt" trarilisfer

take place internally ? If transfers do take place, what

o~

should t‘he'transfer price be' ?

(i) = Now assume that the Small Motor division-incurs selling

costs of Rs. 200 per motor that could be avoided if the

PTO.

-



. much better off (or worse' off) would your 'd_iv'isi(')n beif = .-

* Rs. 2,200 from the ‘manager of the other di,visiorji 2 How

(0. . wm

mptofs are soid_intemal!y. 'ldenﬁfyfhe minimum transfer L

' pﬁcg for the Small Motor division and the maximum transfer

.0

transfers t_ake_: place 2 1f so, what is. the -beneﬁt to the

- firm as a whole ?

Supbosé you are the inaﬁagéf of the Small ‘Motor

.vDivvibs;ion., Sé_lling pgsis of Rs. 200 per m‘o'tor’zé'fé 'aivé)idab]é
if they ére sold irit;:rﬁally. Woulc_{ you accépt-an offer'of

v

this price is acccpt‘e_d«j?‘ I 2

’.

Or.

» Theffqllbwing is the ‘standa'r_.'d vc_ost card of a component : )

Matériéls T 2 uhits at Rs. 15-
Labosr .. 3 HoursatRs.20

price for the Kitchen Products Division. Stiould internal -

.

. Total overheads . T "-3_‘Hours'art.RsA.v 10 .
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During a parl.ticulaf:month I.0,0'OO units qf thej component were - |
produced and the same was foAun'd to .be at 60%’capa§ity of
the'budget.' In preparing_ th'e- vér?ance féporf for the rﬁonth, the .

cost accountant gathered the following information :

v.l.,abou'r S  Rs.6,50,000
Variable dverheéds; S / Rs'.‘.Z,OO,’(_)OO..
l;‘ixed Overheads R 3 o Rs.r3,oo,600"

Material Price Variance: . Rs. 70,000(A)
MaAte.ri'a‘l Co.st.Yari'ance:: ‘. | V A | Rs. 50,000(A)
Labour Rateb Veriaﬂce :‘ ' o 'Rs. 50,000(F)
Fixed -?Qerhead‘.§x§¢ﬁdj§ure v'a:rigrice' " Rs. 50,006(A)/ |
R'equi_red:

Compute the vf'olléwin'g. 5
) A__cfual’ -r‘na,_ter'i.a_l‘ cost incurred

PTO. .
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‘(i) - Standard cost of materials actually consumed

* (i) -Labour efficiency variance SR -

. (vii)- Fixed overhead Capacity. variahce

(v)) Fixed overhead efficiency variance -

EEEEN t : . .
* (viii) Fixed overhead volume variance. -~ -,

, .. - . o i "
N C . - L T,

(i) .V‘ériable overhead efﬁciehcy variance :_- :

Y

) '___V;lr'iablé overhead expenditure;'\iarian(:é

i'gx"_ =



